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SN FUGRES 1y = 2.20 X 103uS - cm™t

Fe B[] 33 Ko — KE (Ko — K/t
t / min K/ (uS - cm™1) uS - cm™1 uS-cm=1-min=t
1 2 1958 242 121.00
2 4 1824 376 94.00
3 6 1678 522 87.00
4 8 1581 619 77.38
5 10 1504 696 69.60
6 12 1452 748 62.33
7 14 1401 799 57.07
8 16 1361 839 52.44
9 18 1325 875 48.61
10 20 1294 906 45.30
11 24 1246 954 39.75
12 28 1218 982 35.07
13 32 1192 1008 31.50
14 36 1163 1037 28.81
15 40 1121 1079 26.98
16 45 1100 1100 24.44
17 50 1072 1128 22.56
18 55 1049 1151 20.93




19 60 1023 1177 19.62
SIS 40°C  RBIVIVIGEIREcy = 0.01 mol - L1
S TR kg = 2.31 X 103uS - cm™!
e R BSE] 33 Ko — K¢ (Ko — Ke)/t
t / min K/ (uS - cm™1) uS -em=t uS -ecm=1-min=1
1 2 2130 180 90.00
2 4 1947 363 90.75
3 6 1779 531 88.50
4 8 1684 626 78.25
5 10 1605 705 70.50
6 12 1536 774 64.50
7 14 1484 826 59.00
8 16 1455 855 53.44
9 18 1420 890 49.44
10 20 1387 923 46.15
11 24 1338 972 40.50
12 28 1308 1002 35.79
13 32 1270 1040 32.50
14 36 1252 1058 29.39
15 40 1232 1078 26.95
16 45 1207 1103 24.51
17 50 1207 1103 22.06
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WELERN K, = [(ko — k) /t] X 9.323 4+ 872.2

WEERN K, = [(ko — k) /t] X 6.67 + 895.7
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